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f(x) f'(x)
g(x) £ h(x) g'(x) £ h'(x)
ag(x) ag’(x)
g(x) - h(x) g'(x) - h(x) + g(x) - h'(x)
Q(x),h(x) L0 g (x)h(x) — g()R (x)
h(x) [h(x)]?
9(h(x)) g'(h()) - W' (x)
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a 0
o a1
a‘,a=0,a=+1 a*lna
e” e”
log, x 1 log,, x
X
Inx 1
x
sen x Cos X
cosx —sen x
to x sec? x
cotg x —csc? x
secx secx-tgx
CcsC X —Ccscx - cotg x
arc sen x 1
v1—x°
arc cos x -1
V1—x?
arc tg x 1
1+ x?
arc cotg x -1
1+ x?
arc sec x 1
|x|yx* — 1
arc csc x -1
v — 1
senh x cosh x
cosh x —senh x
tsh x sech? x
cotgh x —csch? x
sech x sech x . tgh x
csch x —csch x - cotgh x




